Probability and Random Variables
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Question 1 (5 pts)

_ Is this a density or distribution function?
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 Question 2 (5 pts)
Flnd the constant b (in
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Find the marginal density functions of the joint functlon ¢! P f —x(w)
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Given fxy(x,y) is a valid joint density function. Find the dreatnder the density
function fy(y[x)
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Question 5 (6 pts)

A pointer is spun on a fair wheel of chance numbered from 0 to 60 around its
circumference

What is the av Ee value of the pointer position
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What deviation from the mean value will the pointer take on average (RMS dev1atmn
from average) Lo o
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| ¢ A university conducts an entrance exam for the first year students (few thousands). <
| Known is that the exam has 50 questions of different topics (assume the questions are ‘
| )
| not related). Find theM@nchon and @Stﬂbﬁho f the normalized , - [v ~ -
| (mean and vanance) sum of the total grades. State clearly your evidetice.
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uestion 7 (5 pts)
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Find the 10" moment of a Gaussian function of zero mean and umi variance e
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